ihij}bk'ﬂ'?‘l AL /%‘ . f- o N 71% 2 -~
rﬂi\ {h\‘\r“bl L % "( ’ m /J', 4 Ei /u'é‘ AL -
FER g g SR E AL (T X0) et s SR
T M GRATHEAPEL —EARESEE > HBHS 9)60%
L — ATt EA 05 SHAMAH Xl B FEM mKR > Em —>oobf
M B RGRAA - BERFHEAR RIS 245Kt Rz AAFo By V2
(A) ©,(B) e™,(C) ¢, (D) e™, (B) (1+R)
le]l x#3
216 f()={ 7, then tim s(x)=2
(A)+1, (B)-1, (C) «, (D)0, (E)doesnot exit.
1
3. lim(2" +3" ) =2
A2, B3, ©)1, DO, (E)
=x* > .L_[_y_:
4. If y=x", thmdx ?
(A) x*, B) x-x*', (C) x*-Inx, (D) x"(1+lnx), (E) e‘(x+ln x)
todx
S. ——— =Y
'Cx(lnx)3
1 1 3 1 5
(A) 3 (B) " © s (D) B () 3
6. — B MEZANKTF > HEMAZH v RRKEWREFE(T) &4 5D
8% > R AR SLAR TR H MR
- (A) ’=h:3—‘i, (B) r=h=JI, (C) h=2r=3 1, (D) r=2h:3JI,
Vs 2 V3 : 2r
: v
(E) h—2r-‘/;—;-
GER S ¥

TOBAB SN EEA x> HEBLAFME R(x) =25,
$0ug o @HM(TR)H R KR? sLef 2 @HB(TR)A % 17
(A) x=5 TR=25";, (B) x=5, TR=125¢""; (C) x=10, TR=25¢",
(D) x=10, 7R =250¢7*; (E) x =25, TR = 625¢"°

NS O .
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'%‘1’%—);{ Iiﬁjrl)i#”i%‘ )“11- J#-Ff.}Em)LFﬁFﬁ ﬁﬁﬂ A A ;sz; > &

‘k —
v a-Cosx \fo? -1’

L (2-Cosx ) -
2
(A) —% ®) ZT’; © % D) % ) ;%

8. If a > 1, then

9. What is the volume of the region common to the intersecting cylinders
X*+v? —az and X2 +Z? *az?

3

(A)— (B) (C)-—~ (D) (L)———

10, 7F 3 AR — 18 (S AR 4k 8 5 A ik (converges)?

sin x x Sin X In x
I dx, 11| dx, I
L= Nl

(A1, (B) 1, (C) m, (D)land I, (E) I and III

w© n-1
ExEOREA SV Z:z" v

n=1
(A)Forallx, (B)x<-3, (C)-3=x<3, (D)x>0, (E)x=3.

VLI S
2

(A) », (B)2, (O)1, (D)>1, (B) =1

A~ A A 40%

1. ggg;;@gg@;gﬁ——%ii&’fﬁ: B aRfedet Fikeh & 1] A 400,000 +
100,000t = & i B 1% » EB A M &4 FEKARF) 8% K - P10 £14 & 4y
K20 FiE R AR F? RS & L5 A T2 (12 %)

2. Let the random variable X have the p.d.f. (probability density function)

2

f(x) = e / 0 <x <o, zero elsewhere
J2r

Find the mean and variance of X. (12 %)

(Note that the mean of X is defined as /-(X) = j-xf(x)dx and the variance of X is
defined aso* = £(X*) - (), where E(X ) = [ x* f(x)d )

3. Find the maximum and minimum values of X* +Y? + Z* subject to the constraint
2 2 2

conditions ——+-)—/—+——:] and z=x+y. (16 %)
4 5 5




